C:# Division von ganzen Zahlen

Name:
L 6se jede Aufgabe. Antworten
1) 335= 2) 84:2=
- - 1.
2
3
3 48:2= 4) 96:2= 4.
5.
6.
7.
5 74:2 = 6) 14:.9=
8.
0.
10.
7) 823.6= 8 218:2=
- 11.
12.
9 396:9= 10) 37:5=
11) 274:4 = 12) 708:2 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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=

Division von ganzen Zahlen Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 3355= 613 2) 84:2= 42 613
1.
2 42
3 24
3 482= 24 4) 96:2= 48 4, 48
5, 37
6. 1r5
7 137r1
5 742= 37 6) 14.9= 115
8. 109
9 44
10. 7r2
7) 823:6= 137rl 8 218:2= 109 " 6812
12, 354
9 396:9= 44 10) 37:5= 712
11) 274:4= 6812 12) 708:2= 354
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 8 111121 8] 0




